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1) Synthetic auxins are used commercially
A) to promote fruit ripening.
B) to promote seed germination.
C) to promote flowering in ornamental crops.
D) to promote side branching to produce bushier crops,
E) as a broadleaf weed killer.
2) Shoot branching is controlled mainly by the interaction of .
l A) gibberellins and cytokinins.
B) gibberellins and abscisic acid.
C) auxins and cytokinins.
D) auxins and gibberellins.
E) cytokinins and abscisic acid.
3) Compared to conventional agriculture, organic farming
A) guarantees the safety and extra health benefits of food.
B) requires much less hands-on work.
C) exposes farm workers to greater health risks.
D) uses fewer synthetic chemicals.
E) increases crop yields.
4) Which of the following would be a good way to ripen a green tomato?
A) placing it in a microwave, on low power, for 5 minutes
B) placing it in a sealed plastic bag with an overripe banana
C) placing it under a bright light for 24 hours
D) putting it in a darkened area such as a drawer or box
E) wrapping it in foil and putting it in the refrigerator
5) A hot, dry summer will reduce crop yields in part because
A) the stomata of the plants stay open to help cool the leaves,
B) too much carbon dioxide enters the plants when stomata are wide open.
C) oxygen uptake is reduced by the stomata closing to prevent excessive water loss.
D) carbon dioxide uptake is reduced by the stomata closing to prevent excessive water loss.
E) respiration is severe to cause water loss
6) Removing the shoot apex of a plant that shows apical dominance will cause
A) .increased growth of the axillary buds.
B) increased growth of the terminal bud.
C) anincrease in the size of the leaves.
D) anincrease in the growth of the root system

E) animmediate flowering of the plant,
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1) Which of the following is a disadvantage of cloning as a propagation technique?
" 4) Cloned organisms are dangerous #nd unpredictable.
B) Cloning is more expensive and mare difficult than growing from seeds.
C) Cloning requires more space than traditional seed propagation.
D) Cloning is time-consuming, with slow results.
E) Cloning produces monocultures that can potentially be wiped out by a single disease.
8) Which of the following is a i:otential problem associated with genetically engineered plants?
A) Genetically engineered plants will not be able to reproduce on their own.
B) Disease-resistant genes from genetically engineered plants may escape into the wild.
"G Génetically engineered plants are typically adapted to a far narrower range of conditions than naturally
arising species. ’
D) Genetically engineered plants will be less nutritious.
E) Genetically engineered plants will be more susceptible to viral and bacterial diseases,
9) The two main forces that move water through a plant are
A) transpiration and root pressure.
B) root pressure and photosynthesis.
C) transpiration and pressure flow.
D) active transport and cohesion.
E) transpiration and translocation.
10) A process unique to angiosperms is
- A) syngamy
B) alternation of generations
C) seed production
D) double fertilization

E) heterospory
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Secondary growth
Molecular hreeding

1. Apical meristems

2. Phototropism

3. Alternation of generations
4. Totipotency
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